Installing the Jaypro Max-1
Football Goal Posts

Models FBGP-820/FBGP-520
FBGP-830/FBGP-530
FBGP-820C/FBGP-520C
FBGP-830C/FBGP-530C

© 2009 Jaypro Sports

JSL-Inst015 Rev20110223



Installing the Jaypro Max-1 Football Goal Posts

Table of Contents

T INTrOAUCHION ... 2
2 S AT Y . 2
3 Equipment and MaterialS ............o i 2
4 CheCk COMPONENES ... e e e e e e e e e e e e e eeeeeees 3
5 Where to Install the Ground Sleeves and Go0Senecks............cccccceevviiivriinennnn. 6
6 Install the Ground SIEEVE.............oueiiiii e 8
7 Install the Gooseneck (No Height Adjuster) ... 12
8 Install the Gooseneck with Height Adjuster................uuuiiiiiiiiiiiiiiiiiie 15
9 Install the Gooseneck without Ground Sleeve .............ccccvvieeiiiiiiiiiiiiiieeeeen 18
10 Install and Level the Crossbar ... 21
11 Install the Wind Streamers...........c.euviiiiiiiiiii e 23
12 Install the End Fittings & Uprights ..o 24

12.1 Preliminary installaion of first upright and end fittng.............. 24

12.2 Installation of second upright and end fitting.......................... 25

12.3 Complete installation of first upright and end fitting .............. 25

1

www.jaypro.com JSL-Inst015 Rev20110223




Installing the Jaypro Max-1 Football Goal Posts

1 Introduction

This user guide describes how to install the Jaypro Max-1 football goal post models
FBGP-820, FBGP-830, FBGP-820C, FBGP-830C, FBGP-520, FBGP-530, FBGP-520C
and FBGP-530C. It also includes instructions on installing optional ground sleeves both
with and without a height adjuster.

This user guide is written for experienced mechanical contractors. If you need
additional information or support to install your Jaypro goal post, you can reach the
Jaypro Sports customer support team, Monday through Friday, 8:00 A.M. to 5:00 P.M.
Eastern Time at 1-800-243-0533.

IMPORTANT NOTICE

= |t is the installer's responsibility to ensure that the goalpost, gooseneck, and
crossbar are properly located and lined up with respect to the field. Proper location
and alignment should be confirmed with each step.

= |tis the installer’s responsibility to ensure that the crossbar is level and the uprights
are plumb.
o All critical holes are to be drilled by the installer in an effort to help
ensure that all components are square, plumb, and level.

o Verify after every drilling operation that affected components are still
square, plumb, and/or level. Correct as necessary.

o It is recommended that drilled holes be piloted with a 3/16” drill bit, and
opened up incrementally to the final size.

2 Safety

Some of the goal post components are heavy and require at least three people to
maneuver into place. To maintain control and prevent injury when moving heavy
components, ensure you have a sufficient number of technicians to support the
components without dropping them.

3 Equipment and Materials

Gather the following user-supplied equipment and materials:
= Equipment to excavate a 74- by 36-inch hole
= 20-foot high scaffold (or scissor lift or boom)
= 10-foot (minimum) high step ladder
= Mechanic’s tool set

www.jaypro.com JSL-Inst015 Rev20110223




Installing the Jaypro Max-1 Football Goal Posts

= Level, 3 minimum
= 100-foot tape measure
= Electric Drill
o Drill Bits: 5/16%, 1/2", and 5/8” bits
= Rubber mallet

The following equipment is optional, but strongly recommended:

= 17/327, 21/32”, and 11/16” transfer punches (highly recommended)
= 3/167, 3/8” drill bits to pilot holes (highly recommended)

= Heavy grease or white lithium grease

= Baling wire (if using rebar)

» (6), 54-inch lengths of 5/8-inch rebar

4 Check Components

Goal posts are sold in pairs. Inspect your goal post shipment and ensure you received
these parts:

Parts List

2 Ground sleeves (absent for permanent installations)

*Verify that you have the correct style ground sleeve (see Figure 3)
2 Goosenecks

2 Crossbars

4 Twenty (or thirty)-foot uprights

4 Upright end fittings

4 Wind socks

Yellow spray paint

Check Figure 1 to confirm that your Goal Post has shipped with all hardware. If any
hardware or components are missing, contact the Jaypro Sports customer support
team, Monday through Friday, 8:00 A.M. to 5:00 P.M. Eastern Time at 1-800-243-
0533 for replacements.

Optional Height Adjuster Mechanism

If ordered, you will receive:

2 Height adjusters Figure 2

2 63-1/2” EXTENDED ground sleeves (in place of the standard 60-1/4” sleeve), see
Figure 2.

www.jaypro.com JSL-Inst015 Rev20110223




Installing the Jaypro Max-1 Football Goal Posts

Figure 1: FBGP-800 & FBGP-500 Included Components and

Hardware.

FBGP-803: 20" UPRIGHT ASSEMBLY
FBGP-807: 30" UPRIGHT ASSEMBLY

SEE DETAIL C

/{SHEEF 20F2)

DETAIL A

DETAIL B

FBGP-802: HIGH SCHOOL CROSSBAR ASSEMBLY (23'4" UPRIGHT SPACING)
FBGP-802C: COLLEGE CROSSBAR ASSEMBLY (18'¢" UPRIGHT SPACING)

(Quantities Given Per Goal Post)

ITEM | QTY PART NUMBER DESCRIPTION
1 1 FBGP-800US GOOSENECK, 6-5/8" Sch 40 Alum (100-3/8" OFFSET)
FBGP-500US GOOSENECK 6-5/8" Sch 40 Alum (82-3/8" OFFSET)
2 1 FBGP-802/FBGP-802C H.S./COLLEGE CROSSBAR ASSEMBLY, 6-5/8" Sch 40 ALUMINUM
3 | 2 |FBGP-801 END FITTING
4 2 FBGP-803/FBGP-807 20'/30"' UPRIGHT ASSEMBLY, 4" CD, ALUMINUM
5 | 4 |HS5066 1/2" - 13 x 8" HX HD SCREW ZINC PLATED
6 4 HS5062 1/2" - 13 x5 HX HD SCREW ZINC PLATED
7 | 8 |HN2951 1/2" - 13 NYLOCK NUT ZINC PLATED
8 8 HW2044 1/2" FLAT WASHER ZINC PLATED
9 | 2 |HS5179 5/8"11 x 7.5" LONG HX HD SCREW ZINC PLATED
10 2 HW2043 5/8" FLAT WASHER ZINC PLATED
1M1 | 2 |HN2945 5/8"-11 NYLOCK NUT ZINC PLATED
12 1 WS-42 STREAMER ASSEMBLY
13 | 4 |HS966 1/4"-20 x 1/4" LONG SET SCREW
14 2 HS5194 3/8" - 16 x 3/4" FLANGE HEX HD SELF TAPPING
4

www.jaypro.com JSL-Inst015 Rev20110223




Installing the Jaypro Max-1 Football Goal Posts

Figure 2: Height Adjuster Mechanism.

FBGP-806K

Figure 3: Comparison of ground sleeves.

60

[

BE

1/4 | 63 1/2 I

y |
GROUND SLEEVE
STANDARD GROUND SLEEVE
EXTENDED
FBGP-804 FBGP-805

www.jaypro.com

JSL-Inst015 Rev20110223



Installing the Jaypro Max-1 Football Goal Posts

5 Where to Install the Ground Sleeves and
Goosenecks

Installing the ground sleeves in the proper location at each end of the field ensures
that the gooseneck, cross bar, and uprights will be positioned according to high school
and college football regulations. By rule, the front edge of the crossbar should be even
with the inside edge (field side) of the end line, such that the crossbars measure 360 ft
apart, inside to inside™2. Follow these steps to locate each ground sleeve.

1. From the field layout plan, determine and mark the location of the inside
corners of the playing field including the end zone.

2. From the field layout plan or through consultation with the field contractor
determine the final field elevation.

3. Using the corners as reference points, mark the points exactly 80 feet in
from the inside edge of the sideline and 100-3/8 inches for FBGP-800 Series
offset Goal Posts (82-3/8 in for FBGP-500 Series offset) in from the inside
edge of the end zone at each end of the field (Figure 4).

"' NFHS Football Rules Book, 2009

* NCAA Football Rules and Interpretations, 2002

www.jaypro.com JSL-Inst015 Rev20110223




Installing the Jaypro Max-1 Football Goal Posts

Figure 4: Location of the Center of the Ground Sleeve

All measurements from field-side edges of lines.

SIDELINE —‘ GOAL LINE ENDLINE

OE-| Q- | OF-
80'-Q"
FROM INSIDE EDGE
OF SIDELINE TO

CENTER OF GOAL POST
trnrfovecfrrenfeerfrornfrrronfern

17y
= 160-0"

<3 T

100-3/8" For FBGP-800 Series
v oo e o frerof e = i

82-3/8" For FBGP-500 Series

verrjrrvejrerrjprerrjrorefrrirofrend

SIDELINE/

L1 800"
FROM INSIDE EDGE
OF SIDELINE TO
CENTER OF GOALPOST
END LINE

(Inside Edge) —

100-3/8" For FBGP-800 Series

82-3/8" For FBGP-500 Series

SIDELINE\‘

DETAIL A

www.jaypro.com JSL-Inst015 Rev20110223




Installing the Jaypro Max-1 Football Goal Posts

6 Install the Ground Standard

Use of a ground sleeve allows the goalpost to be removed at a later date if necessary.
The MAX-1 may be ordered with a 60-1/4-inch tall ground sleeve (FBSLV8)or, if you
ordered the height adjuster, a taller 63-1/2-inch ground sleeve(FBGPGS-8).
Installation in either case is similar except for the depth of the footing.

IMPORTANT: MEASURE GROUND SLEEVE BEFORE CONTINUING WITH
INSTALLATION TO ENSURE THAT YOU HAVE THE CORRECT MODEL FOR YOUR
INSTALLATION (SEE Figure 3):

Alternatively, the MAX-1 may be permanently installed without a ground sleeve. For
installation without a ground sleeve skip ahead to Section 9.

Note: Use the dimensions in Figure 5 if you are installing the standard ground sleeve.
Use the dimensions in Figure 6 if you are installing the taller ground sleeve that comes
with the height adjuster.

Key points you must remember when installing the ground sleeves:
» The top of the standard ground sleeve must be exactly 1-5/8 inches below
the ground level to obtain the correct cross bar height.

= You must install the ground sleeves so they will center the goosenecks at
the points determined in Section 5.

» Use the footing hole requirements as a guide. You should consult local
codes and examine soil conditions to determine final depth and size. A 36-inch
diameter footing hole is an absolute minimum and you should not use a smaller
footing hole. Larger diameter footing holes are acceptable.

» Consider the turf to be the ground level.

NOTE: The dimensions provided account for the deflection of the gooseneck under the
weight of the crossbar and uprights.

Installation Steps

Follow these steps to install the ground sleeves at each end of the playing field.
1. Excavate the footing hole:
a. Refer to Figure 5 if you are installing the standard ground sleeve.
b. Refer to if you are installing the taller 63-1/2-inch ground sleeve.

www.jaypro.com JSL-Inst015 Rev20110223




Installing the Jaypro Max-1 Football Goal Posts

c. Skip ahead to section 9 if you are installing the gooseneck w/o ground
sleeve.

Note: If you are unable to excavate a clean hole due to soil conditions, excavate a
wider hole, install a 36” diameter Sonotube, and backfill the Sonotube.

2.

Pack the bottom of the footing hole with 12-1/4 inches of gravel or concrete
block or pour a 12-1/4-inch deep concrete pad and allow the concrete pad to
cure for 48 hours.

Lower the ground sleeve into the footing hole. With the standard ground sleeve,
the top of the ground sleeve should be exactly 1-5/8 inches below the ground
level.

While not required, Jaypro recommends using 6 lengths of 5/8-inch rebar,

54 inches long, wired together into a 24-inch diameter basket and placed
around the ground sleeve in the footer hole.

Ensure that the ground sleeve is plumb.

Ensure that the center of the ground sleeve opening is positioned exactly at the
point determined in Section 5.

Support the ground sleeve so it will not move while pouring concrete.

Fill the footing hole with 4,000 psi (minimum) concrete to 6 inches below ground
level.

Allow the concrete to cure for 48 hours before installing the crossbar and
uprights.

www.jaypro.com JSL-Inst015 Rev20110223




Installing the Jaypro Max-1 Football Goal Posts

Figure 5: Installation of the Standard 60-1/4-inch Ground Sleeve
(See Figure 6 for installation of the 63-1/2-inch height-adjuster ground sleeve.)

z ﬂ? 1

—_ T
100 2:8" (8ft EXTEMSIONS OR 82 38" (B fft EXTENSION) FROM INSIDE EDEE
OF EMD LIME (FIELD SIDE) TQ CEMTER 2F GROUMD SLEEVE.
p
) GOOEE NECK
(FEGP-BOOUS} 8 it EXT
= (FBGP-EJ0US) 5 ft EXT
158 1
‘1 GROUND LEVEL  g/g'_ 11 THREADED AMTI-ROTATION ROD 10.75" LONG
B * WITH 5/8" HEX MUTS AND WASHERS. B
Sin e DRILL 214716 HOLES IN SOOSEMECK
L {I‘_ﬂ 1] WHEN PLUMBED AMD ALIGNED WITH PLAYING FIELD.
s
- P -
- o
g - # \ X 12"13 = 2" LONG HEX BOLTS WITH 12" JAM MUTS m
A £ TO CENMTER AND FLUME GOOSERNECEK. %
7 . =
- -
P // m
< /
e " <
L 2 NOTE:
_& Vs P y CONTRACTOR ¢ INSTALLER SHALL COMSULT ﬂ_
s e CODES ANMD SOIL CONDITION FOR FIMAL FOUNDATICN CEPTH AND SIZE.
< s
" - . L MODIFICATIONS MAY NEED TO BE MADE TO TURF APFLICATIONS,
g gis TURF SHOULD BE CONSIDERED GROUND LEVEL.
74 in S L g
BE in - s
I & By
< /
// - - 8" -11 THREADED CEMNTERIMG RODO 8.575" LONG
- L7/ TITH SiE JaM NUTS A b
o g
- -
- // / REY DESCRIPTICN IMIT.| DATE
- . - — POURED CONCRETE A FEGP-BC4 Rev. A& M.JE | B:1/20C8
A L / . y E |FBGP-B04 REY B, ACCOUNT FOR X-DEFL. OF GM | MJE | 2/&:2008 | A
. - I SR [+ Revised Focting added & ft Extansion Info DRL 2232011
s =SSt L R R 3 00n S TR 1]:0G Caiie SEn TSI W TEEE Er o 0o U5
o 4 SRCJECTICE ME™-00: TZLERSHZES:
. LA D T &
@ [:i:l o= o
Ao o= o
UW_ESS STRERWISS SESFED
12in PACKED GRAVEL “HLE: NTiE Tt FHONE Fa:
oR DESIGNER e Faa00r | ARTR40R3Y TOLL FROD) 8004421775 [BALES)
l CONCRETE FAD CHEGHER. wiE P 2604473007 (LOCAL) B0 445 D62 (ERDL)
5EFF B FEw MR &SI RLaRF MaST HILMRFR SHFET
5 A A C |FBEP-820-MAX-1 GROUND SLEEVE SLEEVE INSTALL ASSEMBLY 10F1

2 4}. 1

10
www.jaypro.com JSL-Inst015 Rev20110223




Installing the Jaypro Max-1 Football Goal Posts

Figure 6: Installation of the 63-1/2-inch Ground Sleeve used With Height- Adjuster
See Figure 5 for installation of the standard 60-1/4" ground sleeve '

A |

¥ 2 L

4 DEECRIPTION X7l DATE

GOOSE NECK 100 3:8"(8ft EXTENSION ) OR 82 3/8" & ft EXTENSION) FROM INSIDE EDGE R.E FECO K05 Rev, MUE | &1/2006
FBGP-800US] & ft EXT OF END LINE (FIELD SIDE) TO CENTER OF GROUND SLEEVE. ] Amended D menson W.E | &312008
{FEGP-ﬁﬂlJUS] BT EXT C | Rew Foslivgadded 21 2 Ol | DRL | 2232071
{ ) [G] 5/8" - 11 THREADED ANTI-ROTATION ROD 10.75" LONG B [
WITH 5/8" HEX NUTS AND WASHERS.
[F13X 1/2"-13 x 2" LONG HEX BOLTS WITH 1/2" JAM NUTS A,‘\
o TO CENTER AND PLUMB GOOSENECK. i
SRAUMZ LE'-;'ETl -
POURED CONCRETE
o T ] CONTRACTOR /! INSTALLER SHALL CONSULT
a" | —— CODES AND SOIL CONDITION FOR FINAL FOUNDATION DEPTH AND SIZE. | o] _\\\ _
‘,_,—Fﬂ"ﬁ MODIFICATIONS MAY NEED TO BE MADE TO TURF APFPLICATIONS. g 1 "
\ \ TURF SHOULD BE CONSIDERED GROUND LEVEL. £
7 [A] : . m
ZEIN L
&E%EI\JT% \. . -11 THREADED CENTERING ROD 8 875" LONG 1 EE
" JAM NUTS.
CONCRETE \ I_ —L
FAD \ . I T T ] .
N —e c DETAIL A
aon . i [B] USE OF GROUND SLEEYE WITH HEIGHT ADWJUSTER: HEIGHT ADJUSTER SPACING:
\ \ GROUND LEVEL 3 FROM 1 314" TQ 5 114"
TO BOTTOM OF A.SET DEPTH OF GROUND SLEEVE TO 85" =1 f:i" MEASURED FROM GROUND LEVEL TO TOP OF GRAVEL OR
4 . | GROUND SLEEVE CONCRETE PAD.
\ \ B. AFTER CONCRETE HAS BEEN POURED, MEASURE DISTANCGE FROM GROUND LEVEL TO BOTTOM OF INSIDE OF
\ \ GROUND SLEEVE. THIS IS DEPTH, B, A3 SHOWN.
\ \\\ € ADJUST HEIGHT ADJUSTER SPACING, C, ACCORDING TO FOLLOWING FORMULA:
™. I: . C=B-81%"
[e1 [N N
o DO. INSERT THE HEIGHT ADJUSTER INTQ THE BOTTOM OF THE GOOSENECK ORIENTED AS SHOWN. DRILL TWGO (2)
lf\ —l \"\\ HOLES (@7/32 OR ©15/64) THROUGH THE GOOSENECK WITHIN 27 3" FROM THE BOTTOM AND USE THE SUPPLIED
\\ 1/4" SELF TAPPING SCREWS (2X) TO HOLD THE HEIGHT ADJUSTER IN PLACE.
¥ 1 l FACKED SRAVEL E. INSERT GOOSENECHK INTO GROUND SLEEVE. ALIGN WITH FLAYING FIELD.
12 CR
. CONCRETE 24D F. PLUMBI/CENTER THE GOOSENECH.
|_75,54_| G.DRILL @118 HOLES IN GOOSENECK THROUGH PRE-DRILLED HOLES IN GROUND SLEEVE. INSERT
ANTI-ROTATION ROD THROUGH GROLUND SLEEVE AND FASTEN ON BOTH SIDES WITH SUPFLIED NUTS AND
WASHERS T T L LG TREISTTONT TN T KL MSTRRNC S ST CCREL D,
U PSS FEART SETRIAT
T ILM 5
JSEFSHES M.C LEEERL G
o 1ChLK: el SR oD TRME PG
Tro . - B . o i
o "F‘ X201 GRS 3LEEVE W FEIGHT A% I_ L SRS -Ls L BT g

ﬁr_\ : 2 !

www.jaypro.com

1"
JSL-Inst015 Rev20110223



Installing the Jaypro Max-1 Football Goal Posts

7 Install the Gooseneck (No Height Adjuster)

The procedure below describes the installation of the gooseneck into the standard,
ground sleeve without the height adjuster; see Figure 5 and for details.

Note: If you are using the optional height adjuster mechanism, skip this section and
follow the instructions in section 8. If you are installing the gooseneck without a ground
sleeve, skip ahead to section 9.

The gooseneck slides into the non-adjustable ground sleeve and is centered within
the sleeve using centering rods installed at the bottom of the gooseneck and
centering/plumbing hex bolts and jam nuts at the top of the ground sleeve.

Install both 5/8-11 x 8-7/8"-long threaded centering rods in the centering holes at the
bottom of the gooseneck. Install jam nuts on each end of the centering rods. Center the
rods and tighten the jam nuts against the gooseneck to hold the centering rods in
place.

1. Thread all three 1/2”-13 jam nuts all the way onto the three 1/2”-13 x 2” long
hex bolts.

2. Install the three 1/2"-13 hex bolts into the three 1/2"-13 nuts welded into the top
of the ground sleeve.

3. Lift the gooseneck and slide it into the ground sleeve. Align the gooseneck
overhang so it is exactly perpendicular to the goal line.

4. Plumb and center the gooseneck (with respect to the ground sleeve) and
ensure that the gooseneck is properly aligned with the field of play.

5. Tighten the three hex bolts as much as possible to lock it in position.

a. Once all three bolts are pressed against the gooseneck, tighten each
bolt in sequence a quarter-turn at-a-time to ensure that the alignment is
not altered when tightening bolts.

b. Tighten the 1/2”-13 jam nuts against the ground sleeve.

6. Confirm that the gooseneck is till plumb and correctly aligned.

7. Dirill two 5/8” holes in the gooseneck using the pre-drilled holes in the ground
sleeve for location and alignment.

12
www.jaypro.com JSL-Inst015 Rev20110223




Installing the Jaypro Max-1 Football Goal Posts

a. ltis strongly recommend that an 11/16” transfer punch be used to locate
the holes to ensure correct alignment of the holes.

8. Install a 5/8”-11 x 10-3/4”-long threaded anti-rotation rod through the holes in
the ground sleeve (and through the holes drilled in step 7, above).

9. Install two 5/8” washers and two 5/8”-11 nuts on the ends of the anti-rotation
rods.

13
www.jaypro.com JSL-Inst015 Rev20110223




Installing the Jaypro Max-1 Football Goal Posts

Figure 7: Installation of the Gooseneck in the Standard Ground

Sleeve

DETAIL E

™

[

T

X

,

DETAIL F
ITEM QTy DESCRIPTION

] 2 5/8" FLAT WASHER ZINC PLATED

7 1 GOOSENECK, 6-5/8" Sch 40 ALUMINUM

8 1 GROUND SLEEVE

9 3 1/2"-13 X 2" LONG ZINC PLATED HEX BOLT

10 3 1/2"-13 JAM NUT ZINC PLATED

11 2 5/8"-11 HEX NUT ZINC PLATED

12 1 5/8"-11 THREADED ROD 10.75" LONG ZINC PLATED

13 4 5/8"-11 JAM NUT ZINC PLATED

14 2 5/8"-11 THREADED ROD 7.875" LONG ZINC PLATED

SECTION A-A

www.jaypro.com

14

JSL-Inst015 Rev20110223




Installing the Jaypro Max-1 Football Goal Posts

8 Install the Gooseneck with Height Adjuster

The procedure below describes how to install the gooseneck into the ground sleeve

(63-1/2") with a height adjuster mechanism, see . Note: If you are using the standard
ground sleeve with no height adjuster, follow the instructions in Section 7. If you are
installing the gooseneck without a ground sleeve, skip ahead to section 9.

1. Set height of height adjuster mechanism (see ):

2. Measure the distance from the bottom of the ground sleeve to the ground level,
this is depth B (see )

3. Adjust the height setting on the height adjuster (dimension C in detail A of )
according to the following formula:

C=B-61-1/8"
4. Slide the height-adjuster mechanism into the bottom of the gooseneck shaft.
Hold it in place by drilling two holes (7/32” or 15/64”) through the wall of the

gooseneck and into the guide tabs on the height-adjuster; then install two self
tapping screws in the holes.

5. Install both 5/8-11 x 8-7/8”-long threaded centering rods in the centering holes
at the bottom of the gooseneck. Install jam nuts on each end of the centering
rods. Center the rods and tighten the jam nuts against the gooseneck to hold
the centering rods in place ().

6. Thread all three 1/2”-13 jam nuts all the way onto the three 1/2”-13 x 2” long
hex bolts.

7. Install the three 1/27-13 hex bolts into the three 1/2”-13 nuts welded into the top
of the ground sleeve.

8. Lift the gooseneck and slide it into the ground sleeve. Align the gooseneck
overhang so it is exactly perpendicular to the goal line.

9. Plumb and center the gooseneck (with respect to the ground sleeve) and
ensure that the gooseneck is properly aligned with the field of play.

10. Tighten the three hex bolts as much as possible to lock it in position.
a. Once all three bolts are pressed against the gooseneck, tighten each
bolt in sequence a quarter-turn at-a-time to ensure that the alignment is
not altered when tightening bolts.

15
www.jaypro.com JSL-Inst015 Rev20110223




Installing the Jaypro Max-1 Football Goal Posts

b. Tighten the 1/2”-13 jam nuts against the ground sleeve.

11. Drill two 5/8” holes in the gooseneck using the pre-drilled holes in the ground
sleeve for location and alignment.
a. ltis strongly recommend that an 11/16” transfer punch be used to locate
the holes to ensure correct alignment of the holes.

12. Install a 5/8”-11 x 10-3/4”-long threaded anti-rotation rod through the holes in
the ground sleeve (and through the holes drilled in step 11, above).

13. Install four 5/8” washers and four 5/8”-11 nuts on the ends of the anti-rotation
rods.

16
www.jaypro.com JSL-Inst015 Rev20110223




Installing the Jaypro Max-1 Football Goal Posts

Figure 8: Installation of the Gooseneck Using the Height

Adjuster

-

[

= —

6
11
9
10
DETAIL E
SCALE1/5

DETAIL F
SCALE1/5
DESCRIPTION
5/8" FLAT WASHER ZINC PLATED
ITEM QTY | GOOSENECK, 6-5/8" Sch 40 ALUMINUM
6 2 GROUND SLEEVE
7 1 1/2"-13 X 2" LONG ZINC PLATED HEX BOLT
8 1 1/2"-13 JAM NUT ZINC PLATED
9 3 5/8"-11 HEX NUT ZINC PLATED
10 3 5/8"-11 THREADED ROD 10.75" LONG ZINC PLATED
11 2 5/8"-11 JAM NUT ZINC PLATED
12 1 5/8"-11 THREADED ROD 7.875" LONG ZINC PLATED
13 4 HEIGHT ADJUSTER
14 2 SELF-TAPPING SCREWS
15 1 FBGP-806-1 HEIGHT ADJUSTER
16 1 SELF-TAPPING SCREWS

www.jaypro.com

JSL-Inst015 Rev20110223




Installing the Jaypro Max-1 Football Goal Posts

9 Install the Gooseneck Without Ground Sleeve
Installation Steps

Follow these steps to install the goosenecks at each end of the playing field.
Excavate a footing hole using the dimensions shown in Figure 9.

Note: If you are unable to excavate a clean hole due to soil conditions, excavate a
wider hole, install a Sonotube, and backfill the Sonotube.

1. Pack the bottom of the footing hole with 12-1/4 inches of gravel or concrete
block, or pour 12-1/4-inch deep concrete pad and allow the concrete pad to
cure for 48 hours.

2. Install 2 lengths of 5/8"-11 x 10-3/4” threaded rod into holes in bottom of
gooseneck.
a. The unit ships with two different lengths of 5/8”-11 threaded rod (2 pcs
each). Be sure to use the longer 10-3/4” lengths and not the 8-7/8”
lengths.

3. Center threaded rod and fasten with 5/8” washers and nuts.

4. Lower the gooseneck into the footing hole.

5. While not required, Jaypro recommends using 6 lengths of 5/8-inch rebar,
54 inches long, wired together into a 24-inch diameter basket and placed

around the ground sleeve in the footer hole.

6. Ensure that the gooseneck is plumb and that the overhang is perpendicular to
the goal line.

7. Ensure that the center of the gooseneck is positioned exactly at the point
determined in Section 5.

8. Support the gooseneck such that it remains plumb and its alignment is
maintained as the concrete is poured. Do not remove supports until concrete
has cured.

9. Fill the footing hole with 4,000 psi concrete (minimum) to 6 inches below ground
level.

18
www.jaypro.com JSL-Inst015 Rev20110223




Installing the Jaypro Max-1 Football Goal Posts

10. Allow the concrete to cure for 48 hours before installing the crossbar and
uprights.

19
www.jaypro.com JSL-Inst015 Rev20110223




Installing the Jaypro Max-1 Football Goal Posts

Figure 9: Installation of the Gooseneck Without Ground Sleeve
See Figure 5 and for installation with ground sleeve.

: ¥ 1

— —
i 100 38™ (8ft EXTENSION) OR &2 308 in (6ft EXTENSION) FRCGM INSIDE EDGE
OF EMD LIME {FIELD SIDE) TO CENTER OF GOOSENECK.
/— GROUND LEVEL
B f GOOSE NECK B
g T (FBGP-300US) 8ft EXTENSION
[FEGP-500LI5) 6ft EXTENSION
\ \ m
. . =
. . =
\ \ =
N . =
AN AN "
\ R NOTE:
73 TE" . . CONTRACTOR [ INSTALLER SHALL COMNSULT
\ \ CODES AND S0IL CONDITION FOR FINAL FOUNDATION DEPTH AND SIZE,
67 7i8" \ \ MODIFICATIONS MAY NEED TO BE MADE TO TURF APPLICATICNE.
SRS S TURF SHOULD BE CONSIDERED GROUND LEVEL.
55 55" \\ \
\ B £/8" - 11 THREADED CENTERING ROD 10.75" LONG
L o /_ WITH 5/B" JAM NUTS,
N AN 1L
\ . REV DESCRIPTION MIT | DATE
. i A Amended dimension  [MJE [8/31/2008
A \él lt/ \ B | Added E ft Extension Info [ DRL | 2/23/2011 &
P DR J'..:‘".I'-‘Jtl '\."'Elll.l.l"‘"l.: RE e LU [P | )
NEEERIx]] E—
FACKED GRAVEL -
12 1/4" OR FBGE-B00US INSTALL - NO GEMDSLY
COMCRETE PALD MAT =IMICE SLY.| DATZ. SREAS L) SHZIT N |5
“RGP-RIDLS-INS | B |- gy 1 0F 1 :
i bRl - UK IIES
‘ INCH
e T3 BN B B D ESRRERTOF LR DIPTSR S W TR SRR ED WTHIL T wAITTR PERLER: I OF HEE T

2 45, 1

20

www.jaypro.com JSL-Inst015 Rev20110223




Installing the Jaypro Max-1 Football Goal Posts

10 Install and Level the Crossbar

Follow these steps to install and level the crossbar (refer to Figure 10)
1. Carefully insert the crossbar nipple into the gooseneck.
a. Application of lubricant to crossbar and inside of gooseneck is strongly
recommended.

2. Set the depth of the crossbar in the gooseneck such that the front edge of the
crossbar is aligned with the inside (field side) edge of the end line.

3. Level the crossbar.
a. Itis recommended that you fasten a level to the crossbar to quickly and
easily verify level after each step.

4. Drill a 5/8” hole in crossbar insert using either of the holes in the gooseneck as
a guide.

a. Use of a 21/32” transfer punch is strongly recommended.

b. Itis recommended that you pilot the hole with a 3/16” bit, step up to a
3/8” bit and finish with a 5/8” bit.

c. To ensure proper alignment of holes, do not try to drill all the way
through both faces of crossbar at once. Instead drill from each side of
crossbar and check for level after each drilling operation.

5. Insert a 5/8”-11 x 7.5-inch-long hex head bolt through the hole in the gooseneck
and crossbar fitting. Install 5/8-inch washers and 5/8"-11 nuts
on the bolts, tighten, and verify the depth and levelness of the crossbar.

6. Drill a second 5/8” hole in the same manner as the first.

7. Verify depth and levelness of crossbar and tighten both nuts as much as
possible.

8. Dirill two 5/16” holes in the bottom of the gooseneck through the gooseneck and
crossbar insert. Drill the holes approximately 3 and 6 1/2-inches from the edge
of the gooseneck (where the crossbar inserts).

a. Check level of crossbar after each drilling operation. If the crossbar has
come out of level, re-level and drill a new hole ~1” away.

9. Thread the 3/87-16 self-tapping screws into the drilled holes.

21
www.jaypro.com JSL-Inst015 Rev20110223




Installing the Jaypro Max-1 Football Goal Posts

Figure 10: Installing and leveling the crossbar

line front face
with end line
see Figure 4

 ——

Key
1—gooseneck
2—crossbar
9—5/8"-11 x 7.5” bolt

10—5/8” washer
11—5/8"-11 nut DETAIL B

22
www.jaypro.com JSL-Inst015 Rev20110223




Installing the Jaypro Max-1 Football Goal Posts

11 Install the Wind Streamers

Before installing the uprights, install the wind streamer following these steps (see
Figure 11).
1. Hook one end of the #43, 2-inch S hook into the streamer eyelet and crimp the
hook with pliers .

2. Hook the other end of the S hook into the ¥2’-20 eye-bolt and crimp the hook
with pliers.

3. Thread the 4”-20 jam nut onto the eye-bolt, and thread the eye-bolt into the
upright cap.

4. Tighten the jam nut against the end cap.

5. Repeat the above steps for the other wind streamers.

Figure 11: Installing the wind streamers

Key
1—42-inch streamer
2—endcap

_4(3) 3—1/47-20 hex nut
- = 4—1/4"-20 eye bolt
5—#43 x 2-inch S-hook

DETAIL C

23
www.jaypro.com JSL-Inst015 Rev20110223




Installing the Jaypro Max-1 Football Goal Posts

12 Install the End Fittings & Uprights

Follow the steps below to install the end fittings and uprights (See Figure 12).

12.1 Preliminary Installation of First Upright and End Fitting

1. Insert one end fitting into one end of the crossbar.
a. Itis recommended that you lubricate the end fitting and the inside of the
crossbar.

2. Rotate end fitting such that the upright insert is pointing downward at about a
45-degree angle.

3. Lift one upright over the upright insert on the end fitting.

4. Install a 1/2”-13 x 5-inch bolt, a 1/2” washer and 1/2"-13 nut in through the
upright and pre-drilled hole in the upright insert.

5. Rotate the end fitting until the upright is vertical.

6. Verify that end fitting is completely inserted into crossbar.
a. Use a rubber mallet if necessary to ensure that the end fitting is inserted
completely.

7. Plumb the upright/end fitting in two directions: front to back (perpendicular to
goal line) and side to side (parallel to goal line).
a. Use the two set screws in the upright to adjust and maintain the plumb
of the upright in the direction parallel to the goal line (DO NOT DRILL
HOLE IN UPRIGHT INSERT YET).

8. Dirill a 1/2” hole in end fitting using the hole in the crossbar closest to the
gooseneck as a guide.

a. Use of a 17/32” transfer punch to center hole is strongly recommended.

b. Itis recommended that you pilot the hole with a 3/16” bit, step up to a
3/8” bit and finish with a 1/2” bit.

c. To ensure proper alignment of holes, do not try to drill all the way
through both faces of end fitting at once. Instead drill from each side of
end fitting and check for plumb after each drilling operation.

9. Inserta 1/2"-13 x 7.5-inch-long hex head bolt through the hole in the crossbar
and end fitting. Install two 1/2-inch washers and 1/2”-13 nut and tighten.

24
www.jaypro.com JSL-Inst015 Rev20110223




Installing the Jaypro Max-1 Football Goal Posts

12.2 Installation of Second Upright and End Fitting

1. Repeat steps 1 through 9 of section 12.1 above for the other end fitting and
upright.

2. Confirm level of crossbar and plumbness of both uprights, adjust as necessary.

3. Dirill second hole in end fitting in manner described above, using the other hole
in crossbar as a guide.

4. Install 1/2"-13 x 7-1/2” hex bolt, washers, and nut.
5. Confirm level of crossbar and plumbness of both uprights, adjust as necessary.

6. Dirill second hole in upright insert in manner described above, using the
remaining hole in upright as a guide.

~

Install 1/2"-13 x 5” hex bolt into hole.

12.3 Complete Installation of First Upright and End Fitting

1. Confirm level of crossbar and plumbness of both uprights, adjust as necessary.
2. Repeat steps 1 through 7 in section 12.2 above for other upright and end fitting.

3. Tighten all bolts in end fittings and uprights as much as possible.

25
www.jaypro.com JSL-Inst015 Rev20110223




Installing the Jaypro Max-1 Football Goal Posts

Figure 12: Installing End Fittings and Uprights

DETAIL A

ITEM

0
2

DESCRIPTION

H.S./COLLEGE CROSSBAR ASSEMBLY, 6-5/8" Sch 40 ALUMINUM

END FITTING

20'/30' UPRIGHT ASSEMBLY, 4" OD, ALUMINUM

1/2" - 13 x 8" HX HD SCREW ZINC PLATED

1/2" - 13 x 5 HX HD SCREW ZINC PLATED

1/2" - 13 NYLOCK NUT ZINC PLATED

W N B ||| W

1/2" FLAT WASHER ZINC PLATED

Bl ookl =

1/4"-20 x 1/4" LONG SET SCREW

26

www.jaypro.com

JSL-Inst015 Rev20110223



Installing the Jaypro Max-1 Football Goal Posts

Jaypro Sports, LLC
976 Hartford Turnpike
Waterford, CT 06385

Phone: 800-243-0533
Phone: 860-337-3001
Sales Fax: 800—444-1779
Engineering Fax: 860—440-0628

27
www.jaypro.com JSL-Inst015 Rev20110223




